1200844 (K 12n0844)

Linearized knot diagam

EENENEEEEREE

4 10 6 1 8 2 10 5 12 6 2 9

Solving Sequence

15>4-529->8—>6—>3—>12>10—>7—> 11 >> €2,C6,C10
Cq C1 cg Cs 3 Ci2 C9 cr  C11

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I'=b+u, a—1, u” —2u + 6u® — 6u* + 7u® — 3u® — 1)

IN=0+u, a+1, ub +u® +3u? +u® +2u* +u+1)

I = (b+u, 2u™® +u'? + 140! + 0% + 360" — 14u® + 400" — 4208 + 190 — 39u* + 110> — 8u? + 2a 4+ Ju + 1,
u +ut® 4 8u? 4 5utt 4 23u'0 + 6u® 4 260 — Tu” 4+ 4uS — 17u® — 6ut — 40P + 4u® +du 4 1)

I = (u'® + 2u'? + 9ut + 1000 + 26u° + 1208 + 28u” — 11u° + 5u® — 23u* —w? + 20+ Tu+2, a — 1,
u +ut® 4+ 8u? + 5utt 4+ 23ut0 + 6u° + 26u° — Tu” + 4uS — 17u° — 6ut — 40P + 4u® + du 4 1)

I¥ = (=27u® + 169u'? 4 - - + 6b + 152, 38u'® — 239u'? + - + 6a — 200, u' — Tu!® 4 - — 16u + 4)

I = (b+u, v’ +3u® +a+3u, u®+3u* +u® +3u® +2u+1)

I =(—u?+b—2u—1, a+1, u®+3u* +ud +3u®+2u+1)

I = (—u® —u* — 4u® — 6u® +4b — Tu — 6, 3u® + Tu* + 166> + 22u* + 8a + 21u + 10,
u® + 3u® + 6ut 4+ 10u® + 11u? + 8u + 4)

Iy = (u® +u® — 2au + 2u® +2b — 3u + 1,

ua + 25u’ + 3uda + 20ut + 4ula + T1u® + 2 + au + 1120 + 9a + 53u + 141,

u® + u® + 3u + 5u® 4 3u? + 6u+ 1)

* 9 irreducible components of dim¢ = 0, with total 85 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
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LIr=({+u, a—1, u” —2u® + 6u® — 6u* + Tu® — 3u? — 1)

(i) Arc colorings

o= (1)
)

(
(-
()
(%)
e ( u+1>
(
o= (
oe
o
o

a5 =
ayq =
ag =

ag =

U —u+1)

u6—2u —|—4u —3ut+2u?+1
—ud + 2ut — 2

4 )
u? Jrl
ud +u —Uu
u® — b + 3ut —ud 4 202 —u+1)

2ub —3ut+5ut —3u2—u-—1

wWHut =20 +u
a11 = \ b — 3w +5ut — 5w +2u2 +u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 3u’ — 6u® + 15u* — 18u3 + 15u? — 12u + 3

in decimal forms when there is not enough margin.
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,64,C5 u” —2u8 4 6u® — 6ut + Tud —3u® —1
Cg, Cg, C12
C2, C6, C10 u = 5ul 4+ Tu® —3ud — 20 +u—1
c3,C7,C11 w4+ 6u® + 15u° + 17ut + 7u® — 3u? —2u + 2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
CEHE T8y 4 26y° + 36y* + 9y° — 21y% — 6y — 1
Cg, Cg, C12
2, C, C10 y" — 11y% 4 43y° — 60y* + 13y> — 10y? — 3y — 1
c3,C7,C11 y" — 6y° + 35y° — 47y + 67y — 105y + 16y — 4




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
u= 0.820643
a = 1.00000 4.61500 —1.20760
b= —0.820643
uw=0.29696 + 1.402137
a= 1.00000 9.73442 — 0.665861 5.31181 — 1.868301

b= —0.29696 — 1.402131

uw=0.29696 — 1.402137
a = 1.00000
b= —0.29696 + 1.402131

9.73442 + 0.665861

5.31181 + 1.868301

u = —0.196466 + 0.4159671
a = 1.00000
b= 10.196466 — 0.4159671

0.207126 + 1.1316501

1.63683 — 6.295741

u = —0.196466 — 0.4159671
a = 1.00000
b= 10.196466 + 0.4159671

0.207126 — 1.1316501

1.63683 + 6.295741

uw= 048918 +1.601197
a = 1.00000
b= —0.48918 — 1.601191

—19.6512 — 14.55251

7.15517 4 5.932391

uw= 048918 —1.601197
a = 1.00000
b= —0.48918 + 1.601191

—19.6512 + 14.55251

7.15517 — 5.932391




ILIY=(+u, a+1, ub+u’+3u*+u®>+2u®+u+1)

(i) Arc colorings

o= (1)

1
as = 0
1
a4 = _u2
—u
az = \y3+u
-1
ag = \ —u
—u—1
ag = —Uu
wHu+1
a6: u2
w® +ut +2ud —u
a3 = \ —y* —u? -3 —u—1
u
a2 = \u?+u
—u? -1
a0 =\ —ud —u2—u
0
ar= \y*+ud+3u24+u+1

—ud —ut —2ud +u
ail = 0

(ii) Obstruction class =1

(iii) Cusp Shapes = —9u® — 6u* — 21u® + 3u? — u



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,C5,Coy W+t -+ —u+1

C2,Cg, C10 u® 4+ 4w’ + 5ut + 3w + 20 4+ 1

c3,C7,C11 w 2w —ut =3+ u —u+2

C4,Cg, C12 W+ +3ut + P+ 2 +u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C4,C5 6 5 4 3 2
vy +5y° +11y" + 11y° +8y“ + 3y + 1
Cg, Cg, C12
C2,Ce, C10 Y% — 6y° + 5yt + 133 + 149% + 4y + 1
€3, C7, C11 y® — 6y° + 15y — 3y® — 9y + 3y + 4




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

= 0.411715 + 0.7796401
= —1.00000
= —0.411715 — 0.7796401

10.29080 — 4.971211

7.46638 + 3.541021

= 0411715 —0.7796401
= —1.00000

10.29080 + 4.971211

7.46638 — 3.541021

= —0.459082 + 0.5813971
= —1.00000
= 0.459082 — 0.5813971

—0.53119 + 2.714321

—2.78148 — 9.274111

= —0.459082 — 0.5813971
= —1.00000

U
a
b
U
a
b= —0.411715 + 0.7796401
U
a
b
U
a
b= 0.459082 + 0.5813971

—0.53119 — 2.714321

—2.78148 +9.274111

= —0.45263 + 1.462631
= —1.00000
0.45263 — 1.462631

8.33462 + 8.145861

2.81510 — 6.352971

—0.45263 — 1.462631
= —1.00000
= 0.45263 + 1.462631

8.33462 — 8.145861

2.81510 4 6.352971




L. 1 = (b+w, 2u¥4+u?+.--+2a+1, u*+u'3+-.- +4u+1)

(i) Arc colorings

o= (1)

1
as = 0
1
a4 = _u2
—u
az = \yd+u
—ulg—%uu—k —%u—%
ag = —u
3 %uu—i— %u—%
ag — —u
1,13 12 3,2 7
ag = u2
%u13—4u12—|—~~— 129u—2
a3 = \—2ul® —Zy!2 ... —6u— 2
<§u13 §u12+~-~+2u+g)
= 1,13 _“1,12 1
a12 —§u Eu + +2U+§
—2ul? r%uu +-—8u— §
ajg = —U13 au12_|_‘ %U— 3
—ul® — 30?2 4+ Tu—1
a7 = _%uli‘} 3u12+ _3u_%
§u13+u12+ +%u+3
a1n = \Su? + 20" + -+ Ju+ 3

(ii) Obstruction class = —1

(iii) Cusp Shapes =
—3ulB =442 274 — 21410 — 83— 23uB — 974" +43u’ — 144> +86u* +16u3+12u% —29u—10
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C5 u14+u13+_._+4u+1
cs

C2,C10 Wt 4uP o = 3u? 41

€3 u 140" -+ 384u + 64

€6 ut — 8u' + -+ — 100u + 52
c7,C11 utt — B 27w+ 7
Cy, C12 utt — Tl o~ 16u + 4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C4,C5 y14+15y13+"'_8y+1
Cs

€2, C10 y't 22y 4 — Gy + 1

cs y14 — 2y ... + 53248y + 4096

6 y14 _ 14y13 + .-+ 6016y + 2704
C7,C11 914 - 16913 + o+ 69y +49
Cg, C12 y Ty 4+ 80y + 16
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.439663 + 0.6799781
a = —0.517883 + 0.5527741
b= 10.439663 — 0.6799781

0.33027 4 1.755641

4.64860 — 3.955491

u = —0.439663 — 0.6799781
—0.517883 — 0.5527741
b= 0.439663 4 0.6799781

0.33027 — 1.755641

4.64860 + 3.955491

= 0.736420 + 0.1532561
0.89088 + 1.455671
b= —0.736420 — 0.1532561

a =

8.26670 — 4.443911

1.65913 + 3.088441

0.736420 — 0.1532561
= 0.89088 — 1.455671
—0.736420 + 0.1532561

u =

8.26670 + 4.443911

1.65913 — 3.088441

= —0.149559 + 1.3569801
—0.079573 — 0.5388031
0.149559 — 1.3569801

5.20834 + 3.216421

7.19365 — 4.365351

—0.149559 — 1.3569801
= —0.079573 + 0.5388031
= 0.149559 + 1.3569801

5.20834 — 3.216421

7.19365 + 4.365351

= —0.074998 + 1.3873101
= —1.229600 — 0.6020771
0.074998 — 1.3873101

16.9219 + 0.94031

9.61641 — 0.219901

—0.074998 — 1.3873101
—1.229600 + 0.6020771
0.074998 + 1.3873101

16.9219 — 0.94031

9.61641 + 0.219901

0.24560 + 1.409261
= 0.449017 — 0.9485241
—0.24560 — 1.409261

13.3854 — 7.86241

6.65538 + 4.817951

0.24560 — 1.409261
= 0.449017 + 0.9485241
= —0.24560 + 1.409261

13.3854 + 7.86241

6.65538 — 4.817951
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.47718 4 1.551381
—0.863496 + 0.0853101
0.47718 — 1.551381

9.82711 4 6.874951

7.39941 — 2.875571

—0.47718 — 1.551381
= —0.863496 — 0.0853101
0.47718 + 1.551381

9.82711 — 6.874951

7.39941 + 2.875571

—0.340624 + 0.1515281
= 1.35065 — 1.835021
0.340624 — 0.1515281

0.343098 + 1.2231901

0.32742 — 6.668451

U
a
b
U
a
b
U
a
b
U
a
b

—0.340624 — 0.1515281
1.35065 + 1.835021
0.340624 + 0.1515281

0.343098 — 1.2231901

0.32742 4 6.668451
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IV. I} =(u®¥4+2u"2+..-+2b+2,a—1, v +u®+ ... +4u+1)

(i) Arc colorings

o= (1)

a5 =

a4:<
—u
ao = 3
2 u” +u
1
ag = f%um wl? 4 - %ufl
—%u13—u12+---+%u2—%u
ag = —%ul?’ u12+---—%u—1
—3ul — Lt —3u—1
= 3, 1712 1 1
a6 = \ —u'+Ju? 4+ +ju—3
_%1“13 %U11+' +3u+1
as —§U13+U12+" +17U+2
u
a1o = _%UIS %u12 L 2u %
( u?+1
ajg=\_L1,3 1,12,  _, 1
10 U+ su” + uU— 3
_%u13_§u12+, —6u—%
a7: _u13 1u12_~_._._%u_%
—3ul %u2—|—lu
a;n =\ —2u® —u?+.. 4+ 3u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes =
—3ulB3—4412 274 =210 — 831 —23uf — 974" +43u’ — 144> +86u* +16u3+12u% —29u—10
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C9 u14+u13+_._+4u+1
C12
C2 u' —8u'? + - — 100u + 52
c3, C7 w4 2Tu 4 T
cs, C8 ut —7uB o —16u+4
Cg, C10 ut +4u o = 3wt 1
c11 u' + 14u'® 4 - 4 384u + 64

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,C9 y14+15y13+"'_8y+1
C12
o y14 B 14y13 + .-+ 6016y + 2704
C3,C7 914—16y13+"'+69y+49
Cs5,C8 yl4+7ylg+"'+80y+16
C6r C10 y14_22y13+..._6y—|—1
- y14 . 2y13 + -+ + 53248y + 4096

17



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.439663 + 0.6799781
a = 1.00000
b= 0.148180 + 0.5951841

0.33027 4 1.755641

4.64860 — 3.955491

u = —0.439663 — 0.6799781
1.00000
b= 0.148180 — 0.5951841

0.33027 — 1.755641

4.64860 + 3.955491

= 0.736420 + 0.1532561
1.00000
b= —0.432968 — 1.2085201

a =

8.26670 — 4.443911

1.65913 + 3.088441

0.736420 — 0.1532561
1.00000
—0.432968 + 1.2085201

u =

a =

8.26670 + 4.443911

1.65913 — 3.088441

= —0.149559 + 1.3569801
1.00000
—0.743045 + 0.0273961

5.20834 + 3.216421

7.19365 — 4.365351

—0.149559 — 1.3569801
= 1.00000
—0.743045 — 0.027396.1

5.20834 — 3.216421

7.19365 + 4.365351

—0.074998 + 1.3873101
1.00000
—0.92749 + 1.660681

16.9219 + 0.94031

9.61641 — 0.219901

—0.074998 — 1.3873101
1.00000
—0.92749 — 1.660681

b
U
a
b
U
a
b
U
a
b
U
a
b

16.9219 — 0.94031

9.61641 + 0.219901

0.24560 + 1.409261
a = 1.00000
b= —1.44700 — 0.399821

u =

13.3854 — 7.86241

6.65538 + 4.817951

uw=0.24560 — 1.40926]
a = 1.00000
b= —1.44700 + 0.399821

13.3854 + 7.86241

6.65538 — 4.817951
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Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.47718 4 1.551381
= 1.00000
—0.279692 4 1.3803201

9.82711 4 6.874951

7.39941 — 2.875571

—0.47718 — 1.551381
= 1.00000
—0.279692 — 1.3803201

9.82711 — 6.874951

7.39941 + 2.875571

—0.340624 + 0.1515281
1.00000
0.182009 — 0.8297121

0.343098 + 1.2231901

0.32742 — 6.668451

U
a
b
U
a
b
U
a
b
U
a
b

—0.340624 — 0.1515281
1.00000
0.182009 + 0.8297121

0.343098 — 1.2231901

0.32742 4 6.668451

19



V. I¥ = (—27u'® + 169u'? + - .- + 6b + 152, 38u'® — 239u'2 + ...

200, u'* — 7Tul® + ... — 16u + 4)
(i) Arc colorings

0
al = u
a5 =
ay4 =

—u

az = \ud+u

—6.33333u'® + 39.8333u'? + - - - — 91.1667u + 33.3333)

ag = %u13—%u12+~-~+68u—?
—%u13—|—%5u12+---— 99, +8
%uw %u 24 +68u——
S84 Ty, 12+..._@u+7

ag = %UIS 238u12+ +23U

8u13 181u12 4. + %u 15
3. 66667u13 +23.1667u'? + - - - — 54.3333u + 20.6667
2.41667u'® — 15.4167u'% + - - - + 41.3333u — 15.6667)

(
(
(
(
-
(
(-
(
(*
(i

a1o = 3 13 + 28u12 e — 220+ %
% 13 ?}4§1 ul R %’LL 23
ayp = Tul® + 1u1 4+ = 97u+ 109
3, 61 12 17
ar = %ul L2 4 g 50y,
Tuld — %u12+~~-+31u—11
ay = 7% 3 412, 19,45
(ii) Obstruction class = —1

(iii) Cusp Shapes = 3
[ 5 5
07279u6 + 70308u5 _ o3368u4 4 34313U3 1074 2 1 9210u — 224

20

277 13 503u12+ 935 11 47657 10+ 4559U9

+ 6a —

—2313u® + 850947 —



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy Wt =P~ 16u+4
Ca2,Cq w4+ 30?41
c3, C11 w4 2T+ 7
Cs5,C8,C9 W uB e dut1
C12
cr u' 140’ + - 4+ 384u + 64
c10 utt — 8u' + .. — 100u + 52
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 yM Ty 4 480y + 16
C2,C6 y' =22y 4~ Gy +1
€3, C11 y't —16y" + - + 69y + 49
Cs5,C8,C9 y14+15y13+78y+1
C12
c7 y't = 2y" - - 4 53248y + 4096
¢10 y' —14y" + - 4 6016y + 2704
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Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.182009 + 0.8297121
a= 0.260164 4 0.3534621
b= 0.340624 — 0.1515281

0.343098 + 1.2231901

0.32742 — 6.668451

u = —0.182009 — 0.829712]
a= 0.260164 — 0.3534621
b= 10.340624 + 0.1515281

0.343098 — 1.2231901

0.32742 4 6.668451

u = 0.743045 4 0.0273961
a = —0.26825 — 1.816351
b= 0.149559 4 1.3569801

5.20834 — 3.216421

7.19365 + 4.365351

u= 0.743045 — 0.0273961
a = —0.26825 + 1.816351
0.149559 — 1.3569801

5.20834 + 3.216421

7.19365 — 4.365351

0.432968 + 1.2085201
0.305865 — 0.4997771
—0.736420 — 0.1532561

8.26670 — 4.443911

1.65913 + 3.088441

0.432968 — 1.2085207
= 0.305865 + 0.4997771
= —0.736420 + 0.1532561

8.26670 4 4.443911

1.65913 — 3.088441

= —0.148180 + 0.5951841
= —0.902610 + 0.9634201

0.33027 — 1.755641

4.64860 + 3.955491

—0.148180 — 0.59518471
—0.902610 — 0.9634201
0.439663 — 0.6799781

0.33027 4 1.755641

4.64860 — 3.955491

0.279692 + 1.3803201
—1.146890 + 0.1133081
0.47718 + 1.551381

9.82711 — 6.874951

7.39941 + 2.875571

0.279692 — 1.3803207
= —1.146890 — 0.1133081

b

U

a

b

U

a

b

U

a

b= 0.439663 + 0.6799781
U

a

b

U

a

b

U

a

b= 047718 —1.551381

9.82711 4 6.874951

7.39941 — 2.875571
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Solutions to I¢

V=1 (vol + y/=1CS)

Cusp shape

= 1.44700 4 0.399821
0.407711 + 0.8612661
—0.24560 — 1.409261

13.3854 — 7.86241

6.65538 4 4.817951

1.44700 — 0.399821
0.407711 — 0.8612661
—0.24560 + 1.409261

13.3854 + 7.86241

6.65538 — 4.817951

= 0.92749 4 1.660681
= —0.655993 — 0.3212101
0.074998 + 1.3873101

16.9219 — 0.94031

9.61641 + 0.219901

0.92749 — 1.660681
—0.655993 + 0.3212101
0.074998 — 1.3873101

U
a
b
U
a
b
U
a
b
U
a
b

16.9219 + 0.94031

9.61641 — 0.219901
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VL I¥ = (b+ u, u® 4+ 3u® + a + 3u, u® + 3u* + u® + 3u? + 2u + 1)

(i) Arc colorings

o= (1)

1
as = 0
1
a4 = _u2
—u
az = \y3+u
—u® —3ud — 3u
ag = —U
—ud —3ud —4u
ag = —u
—ud 4+ u? —2u
a6: u?

—2ut —3u2—2u—1
a3 = \y® —u*+2u —2u2—u—1
ud +u? 4+ u+ 2

a2 = —ut — 202
wd + 1
a0 = \ —ud —u?
—u? —3u—1
ar= \y*+ud+3u24+u+1

w3+ ut+2u+2
ail = 0

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u® — u* — 8u® — 3u? — Tu + 2

25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w+3ut —ud+3u?—2u+1
C2,C10 wl — 3w +3ut — 3+ 4w —2u+1
€3 W+ ut =+ 100 +8u+5
C4,C8 wW+3ut+ud +3ur+2u+1
Co u® + 4u® + 5u* + 2ud + 3u? + 6u+ 4
c7,C11 wW—2ut — P+ 3+ 3u+1
Co ub — 3u® + 6ut — 1003 + 11u% — 8u + 4
6 5 4 3 2
C12 u’ + 3u” 4+ 6u” +10u” + 11lu” +8u+4

26



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, ¢4, G5 Y% + 65 + 15y* + 1993 + 1192 + 2y + 1
cs
c2,C10 Yo —3y° —yt + 53 + 102 + 4y + 1
€3 y® 4 5 +19y* + 4553 + 126y% + 36y + 25
Co y® — 6y° + 15y* — 1493 + 2592 — 12y + 16
cr,c11 Y — 4y +10y* — 119° + 1192 — 3y + 1
C9, C12 Y% + 3y° — 2yt — 8y + 9y? + 24y + 16
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Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.490990 + 1.2250901
1.022090 + 0.4997181
—0.490990 — 1.2250901

13.51720 — 2.211191

7.59544 + 2.418681

0.490990 — 1.2250907
1.022090 — 0.4997181
—0.490990 + 1.2250901

13.51720 + 2.211191

7.59544 — 2.418681

—0.087695 4 1.3212901
0.211862 — 0.9852561
0.087695 — 1.3212901

4.04340 4 1.928461

5.16582 — 2.699801

—0.087695 — 1.3212901
0.211862 + 0.9852561
0.087695 + 1.3212901

4.04340 — 1.928461

5.16582 + 2.699801

—0.403296 + 0.4058831
0.76605 — 1.567141
0.403296 — 0.4058831

0.533692 — 0.4826261

3.73874 —2.777701

—0.403296 — 0.4058831
= 0.76605 4 1.567141
= 0.403296 + 0.4058831

>~ Q@ S|l & €| & €| @ €| & &8> & &

0.533692 + 0.4826261

3.73874 + 2.777701
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VIL I = (—u®+b—2u—1, a+1, u®+ 3u* + u® + 3u? +2u+1)

(i) Arc colorings

o= (1)

1
as = 0
1
a4 = _u2
—u
az = \y3+u
-1
a9 = \y3+2u+1
ud + 2u
ag = \ud+2u+1
u4+u2
as = \u*+ud +u?+2u
ud +2ud + 1
as = uwr+u?—u
u
a1z = \ —yt — 242
—u? -1
a10 =\ +3ud+2u+1
0
ar = \—u? -1
—ud —ut =2 -3t —u—1
an = —ut —3u® —u

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u® — u* — 8u® — 3u? — Tu + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C9 w+3ut —ud+3u?—2u+1
2 u® + 4u® + 5ut + 2u® + 3u® + 6u + 4
c3,C7 w—2ut — P+ 3u+3u+1
C4,C12 W4+ 3ut +ud +3u+2u+1
Cs ub — 3u® + 6u* — 10u® + 11u? — 8u + 4
Cg, C10 wl —3ud +3ut -3+ 4w —2u+1
Cs u® + 3u® + 6u’ + 10u® + 110 + 8u + 4
c11 W —u® +ut —ud 4+ 10u® + 8u+5
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
LS 465 4 15yt 4 19y% + 11y + 2y + 1
C12
€2 y® — 635 + 15y* — 1493 + 259> — 12y + 16
€3, C7 y® —dy® +10y* — 1193 + 11y% — 3y + 1
s, C8 y® +3y° — 2yt — 8y® + 9y% + 24y + 16
Cg, C10 y6—3y5—y4—|—5y3+10y2+4y+1
c11 ¥+ y° + 19y* + 45y% + 1261% + 36y + 25
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Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.490990 + 1.2250901
= —1.00000
—0.11037 + 1.497511

13.51720 — 2.211191

7.59544 + 2.418681

0.490990 — 1.2250907
—1.00000
—0.11037 — 1.497511

13.51720 + 2.211191

7.59544 — 2.418681

—0.087695 4 1.3212901
—1.00000
1.283230 + 0.3663341

4.04340 4 1.928461

5.16582 — 2.699801

—0.087695 — 1.3212901
—1.00000
1.283230 — 0.3663341

4.04340 — 1.928461

5.16582 + 2.699801

—0.403296 + 0.4058831
—1.00000
0.327132 + 0.9429481

0.533692 — 0.4826261

3.73874 —2.777701

—0.403296 — 0.4058831
= —1.00000
= 0.327132 — 0.9429481

>~ Q@ S|l & €| & €| @ €| & &8> & &

0.533692 + 0.4826261

3.73874 + 2.777701
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VIIL I = (—u® —u* — 4u® — 6u® + 4b — Tu — 6, 3u® 4 Tu* + 16u® 4+ 22u? +
8a + 21u + 10, u® + 3u® + 6u? + 10u® + 11u? + 8u + 4)

(i) Arc colorings

o ()

1
= (o)
()
a4 = —u?
—u
a2 = <u3+u>
<§u5;u4+~~2;ui>
o= { Qo Bt ue g
(g ey
ag = \ ju+jut+ -+ Ju+3
S YT Yy 4+ 94 T
= (SR
<—§u5—gu4+~-~—l§5u—i>
o= (-t us
_(;1u5+§u4+ +§u+i)
G U O
(G dptoee—urd)
G1o0 = —%u5—%u4+~-~—%u—%
(gru5+§u4+-~+21u+141>
or= Ty Yy
<2u5+183u4+ ~-—|—3§’u+2>
arr = \=3u5 — 3yt 4. — Ju— 3

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u’ + 5u* + 9u® + 12u? + 11u + 10
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ub — 3u® + 6u* — 10u3 + 11u? — Su + 4

C2,Cg wl —3u? +3u* —3ud +4u® —2u+1

c3,C11 w—2ut — P+ 3u+3u+1
€a u® + 3u® + 6u* + 10u® + 11u”® + 8u + 4

c5, Co w4+ 3ut — P+ 3u?—2u+1
7 ub —u® 4+ ut —ud +10u® + 8u+ 5

cg, C12 wW+3ut+ud + 3P +2u+1
C10 u® + 4u® + 5ut + 2u® + 3u® + 6u+ 4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 Yo+ 3y° — 2yt — 8y + 9y? + 24y + 16
C2,Ce Yo —3y° —yt 5y 107 + 4y + 1
c3, 11 y® —4y° +10y" — 11y° + 11y° =3y + 1
5,68, y® + 6y° + 15y" + 19y° + 11y + 2y + 1
C12
¢ y® + o + 19y* + 45¢° + 126y% + 36y + 25
c10 Y% — 6y° + 15y* — 149> + 2592 — 12y + 16
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ v—1(vol + /—1C5) Cusp shape

u = —0.327132 4 0.94294871
a= 0.251761 — 0.5150381 0.533692 + 0.4826261 3.73874 + 2.777701
b= 0.403296 4 0.4058831

u = —0.327132 — 0.94294871
0.251761 + 0.5150381 | 0.533692 — 0.4826261 | 3.73874 — 2.777701
0.403296 — 0.4058831

—1.283230 + 0.3663341
0.208605 — 0.9701081 4.04340 — 1.928461 5.16582 + 2.699801
0.087695 + 1.3212901

—1.283230 — 0.3663341
0.208605 + 0.9701081 4.04340 4 1.928461 5.16582 — 2.699801
0.087695 — 1.3212901

0.11037 4 1.497511
0.789634 + 0.3860671 13.51720 + 2.211191 7.59544 — 2.418681
—0.490990 + 1.2250901

0.11037 — 1.497511
= 0.789634 — 0.3860671 13.51720 — 2.211191 7.59544 + 2.418681
= —0.490990 — 1.2250901

b
U
a
b
U
a
b
U
a
b
U
a
b
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IX. I¥ = (u5 + u® — 2au 4+ 2u® + 2b — 3u + 1, u®a + 25u® +
141, u® + u® + 3u* + 5u3 + 3u? + 6u + 1)

(i) Arc colorings
0
ayp = u
a5 =
aq =
ag =

ag =

ag =

a—2ud+---+2a—14
a+uS+- 4 3u+ i

(
(
(
(
S G e
(
(
(
(
(

u4a—|—§u5+~--—|—123u+221)
aio = —%uf’a—%ug’—&—-u—&—%a—%
—u4a+5u5—|—-~-+121u+225>
ar= \ tuha—3uda+ - —Ja—2
(§u5a+2u5+-~-+;a+12)
an = usa—%u‘r’—}—u-—%u—%
(ii) Obstruction class = —1

(iii) Cusp Shapes =6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, ¢4, 5 (u® + u® + 3u® + 5u® + 3u? + 6u + 1)?
Cg, Cg, C12
2, Cg, C10 (ub + u® — 3u* — u® 4+ u® — 10u — 5)2
c3,C7,C11 (u6—u5—4u4—|—11u3 —13u—&—11)2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C4,C5 6 5 4 3 2 2
(y° + 5y’ + by — 17y° — 45y° — 30y + 1)
Cg, Cg, C12
C2,C6, C10 (y® — 7y° + 13y* + 3% + 11y% — 110y + 25)?
c3,C7,C11 (y® — 9y° + 38y* — 125> + 198y — 169y + 121)?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I vV—1(vol ++/—1CS) Cusp shape
u = —0.074296 + 1.3327201
a = —0.993804 + 0.1111501 4.27683 6.00000
b= 1.46944
u = —0.074296 + 1.3327201
a= 0.061277 + 1.0991801 4.27683 6.00000
b= 0.074296 + 1.3327201
u = —0.074296 — 1.3327201
a = —0.993804 — 0.1111507 4.27683 6.00000
b= 1.46944
u = —0.074296 — 1.3327201
a= 0.061277 — 1.0991807 4.27683 6.00000
b= 0.074296 — 1.3327201
u= 0.39818 4+ 1.408351
a = —0.851965 — 0.5235981 12.1725 6.00000
b= 0.178322
u= 0.39818 4+ 1.408351
a = —0.0331482 + 0.11724501 12.1725 6.00000
b= —0.39818 + 1.408351
u= 0.39818 — 1.40835]
a = —0.851965 + 0.5235981 12.1725 6.00000
b= 0.178322
u= 0.39818 — 1.408351
a = —0.0331482 — 0.11724501 12.1725 6.00000
b= —0.39818 — 1.408351
u = —1.46944
a = 0.050561 + 0.9069541 4.27683 6.00000
b= 0.074296 — 1.3327201
u = —1.46944
a = 0.050561 — 0.9069541 4.27683 6.00000

b= 0.074296 + 1.3327201
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Solutions to Ig

V—1(vol + v/—1CS)

Cusp shape

= —0.178322
= —2.23292 4 7.897841
—0.39818 — 1.408351

12.1725

6.00000

—0.178322
= —2.23292 — 7.897841

U
a
b
U
a
b= —0.39818 + 1.408351

12.1725

6.00000
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X. u-Polynomials

Crossings u-Polynomials at each crossing
(u® + 3u* — u® + 3u? — 2u + 1)?
c1,Cs,C9 (u® = 3u® + 6ut — 10u® + 11u® — Su + 4)
S(u® —u® 3t — ud 4 2u® — w4 1) (w8 + w4 3ut + 5ud + 3u? + 6u+ 1)?
(= 2ub = 30 = D) (ut = Tut - — 16U+ 4)
(M 4t 4 du 4 1)?
(u® — 3u® + 3ut — 3u® + 4u? — 2u + 1)?
C2,Cg, C10 (u® +u® = 3ut —u? +u? — 10u —5)2
(ub +4ud 4+ 6u+ 4) (w4 4+ But 4 3u® 4 20 4 1)
S(u” = 5ub 4 7w’ — 3ud — 2u® +u— 1) (ut — 8ul + - — 100u + 52)
C(uMt 44t = 3u? +1)2
(u® — 2u* —u® + 3u® + 3u + 1)*(u® — v’ — 4u* + 110> — 13u 4 11)2
€3, ¢7, c11 (U8 —w® +ut = ud +10u? + 8u + 5) (ub + 2u° —ut — 3ud +u? —u+2)
(u” 4 6u’ 4 15u° + 17ut + Tu® — 3u® — 2u + 2)
(M =4 4= 2Tu 4+ 7)) (uM - 14ut - 4 384u + 64)
(u® + 3u® + u® + 3u® + 2u + 1)*(u® +u® + 3u’ +ud + 20 Fu+1)
C4,C8, C12 . (u6 +u® + 3ut + 5u® + 3u? + 6u + 1)2

- (u® + 3u® 4 6ut + 10u® + 11u? + Su + 4)
(= 2ub =30 = D) (= Tut - — 16U+ 4)
.(u14+u13+”.+4u+1)2
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XI. Riley Polynomials

Crossings Riley Polynomials at each crossing

(8 + 3y° — 2y* — 8y + 992 + 24y + 16)
+ 5y° 4 byt — 17y% — 45y — 30y + 1)?
+5y° + 11y + 119° + 82 + 3y + 1)

€1, €4, Cs (y®
(v’
(S 4 6y° + 15yt +19y° + 1197 + 2y +1)2
(y
- (

Cg,Cg, C12

+ 895 + 26y° + 36y" + 9y — 21y® — 6y — 1)
g+ Ty 4 4 80y + 16) (v + 15y" 4 - — 8y + 1)?

(yS — Ty° + 13y* + 3y3 + 112 — 110y + 25)2

~(y° = 6y° + 5y + 13y + 14y° + 4y + 1)

- (y® — 6y° + 15y* — 149° + 25y% — 12y + 16)

(y° = 3y° —yt + 5y + 10y + 4y +1)°

(y" — 11y° + 43y° — 60y* + 13y* — 10y* — 3y — 1)

(M —22y" =6y + 1)) (v — 149" + - 4 6016y + 2704)

C2,Ce6, C10

(y° — 99° + 38y* — 125y> + 198y” — 169y + 121)°
c3,C7,C11 (y® — 6y° + 15y* — 3y® — 9y? + 3y + 4)

(Y% — 4y’ + 10yt — 11y° + 11y — 3y + 1)2

(4 +1° + 19y* + 4557 + 126y + 36y + 25)

(Y — 6y5 + 3597 — ATy* + 67y® — 105y + 16y — 4)
(

(M =16y + -+ 69y +49)%) (g — 2y + - - + 53248y + 4096)
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